

Integration by Substitution

הצבה

$$\int (2x+3)^{10} dx$$

$$\rightarrow \frac{1}{2} \int t^{10} dt =$$

$$= \frac{1}{2} \cdot \frac{t^{11}}{11} + C = \frac{(2x+3)^{11}}{22} + C$$

$$t=2x+3, \frac{dt}{2} = dx$$

$$\int \frac{1}{(-4x+7)^8} dx$$

$$= \int (-4x+7)^{-8} dx \rightarrow -\frac{1}{4} \int t^{-8} dt =$$

$$= -\frac{1}{4} \cdot \frac{t^{-7}}{-7} + C = \frac{(-4x+7)^{-7}}{28} + C$$

$$t=-4x+7, -\frac{1}{4} dt = dx$$

$$\int e^{3x} dx$$

$$\rightarrow \frac{1}{3} \int e^t dt = \frac{e^t}{3} + C = \frac{e^{3x}}{3} + C$$

$$t=3x, \frac{1}{3} dt = dx$$

$$\int x e^{x^2} dx$$

$$\rightarrow \int e^t \cdot \frac{1}{2} dt = \frac{1}{2} e^t + C = \frac{1}{2} e^{x^2} + C$$

$$t=x^2, dt=2x dx$$

$$\int \tan(x) dx$$

$$\rightarrow \int \frac{\sin x}{\cos x} dx = - \int \frac{1}{t} dt =$$

$$= -\ln|t| + C = -\ln|\cos x| + C$$

$$t=\cos x, dt = -\sin(x) dx$$

$$\int \sin(x^2) \cdot 2x dx$$

$$\rightarrow \int \sin(t) dt = -\cos(t) + C =$$

$$= -\cos(x^2) + C$$

$$t=x^2, dt=2x dx$$

$$\bullet \int \sin^{42}(x) \cdot \cos(x) dx = \frac{(\sin(x))^{43}}{43} + C$$

$$\stackrel{\leftarrow}{=} \int t^{42} dt = \frac{t^{43}}{43} + C =$$

$t = \sin x, dt = \cos x dx$

$$\bullet \int \frac{1}{x} \cos(\ln|x|) dx = \sin t + C = \sin(\ln|x|) + C$$

$$\stackrel{\leftarrow}{=} \int \cos(t) dt = \sin t + C = \sin(\ln|x|) + C$$

$t = \ln|x|, dt = \frac{1}{x} dx$

$$\bullet \int x^3 (3x^2 - 1)^{17} dx = \frac{1}{6} \int x^2 t^{17} \frac{dt}{6x} = \frac{1}{6} \int x^2 t^{17} dt =$$

$$\stackrel{\leftarrow}{=} \frac{1}{6} \int \frac{t+1}{3} \cdot t^{17} dt = \frac{1}{18} \int t^{18} + t^{17} dt = \frac{1}{18} \left[\frac{t^{19}}{19} + \frac{t^{18}}{18} + C \right] =$$

$$= \frac{1}{18} \left[\frac{(3x^2-1)^{19}}{19} + \frac{(3x^2-1)^{18}}{18} + C \right]$$

$t = 3x^2 - 1, dt = 6x dx, \frac{dt}{6x} = dx$

$x^2 = \frac{t+1}{3}$

$$\bullet \int \frac{1}{\sqrt{a^2 - x^2}} dx = \int \frac{1}{\sqrt{a^2} \cdot \sqrt{1 - \frac{x^2}{a^2}}} = \frac{1}{a} \int \frac{1}{\sqrt{1 - (\frac{x}{a})^2}} =$$

$$\stackrel{\leftarrow}{=} \frac{1}{a} \int \frac{1}{\sqrt{1 - t^2}} \cdot a dt = \int \frac{1}{\sqrt{1 - t^2}} dt = \arcsin(t) + C =$$

$$= \arcsin\left(\frac{x}{a}\right) + C$$

$t = \frac{x}{a}, dt = \frac{1}{a} dx, a \cdot dt = dx$

$$\bullet \int \frac{e^x}{e^{2x} + 1} dx = \int \frac{e^x}{(e^x)^2 + 1} = \int \frac{1}{t^2 + 1} dt =$$

$$= \arctan(t) + C = \arctan(e^x) + C$$

$t = e^x, dt = e^x dx$

$$\bullet \int \frac{2x}{(x^2 + 1)^2} dx = \int \frac{1}{(t+1)^2} = \int (t+1)^{-2} dt =$$

$$= \frac{(t+1)^{-1}}{-1} + C = -\frac{1}{x^2 + 1} + C$$

$t = x^2, dt = 2x dx$

$$\dots \int \sqrt{x^3+4} \cdot x^5 dx$$

$$\int \sqrt{t} (t-4) \cdot \frac{1}{3} dt =$$

$$t = x^3 + 4, x^3 = t - 4, dt = 3x^2 dx$$

$$= \frac{1}{3} \left(\int \sqrt{t} \cdot t - \int 4\sqrt{t} \right) =$$

$$= \frac{1}{3} \left(\frac{2t^{\frac{5}{2}}}{5} - 4 \cdot \frac{2}{3} \cdot t^{\frac{3}{2}} \right) = \frac{2}{3} \left(\frac{(x^3+4)^{\frac{5}{2}}}{5} - \frac{4}{3} (x^3+4)^{\frac{3}{2}} \right) + C$$

$$\dots \int e^{\sqrt[3]{x}} dx$$

$$3 \int e^t \cdot t^2 dt =$$

$$t = x^{\frac{1}{3}}, t^2 = x^{\frac{2}{3}}, 3t^2 dt = dx$$

הצבה
פשוטה
במקרה
כזה

$$\dots \int \ln^3 x dx$$

$$\int t^3 \cdot e^t dt \leftarrow \text{שימוש בפרמטרו 3 פעמים}$$

$$t = \ln x, dt = \frac{1}{x} dx, x \cdot dt = dx, x = e^t$$

$$\dots \int \frac{1}{\sqrt{x(4+x)}} dx$$

$$= \int \frac{1}{\sqrt{x} \cdot \sqrt{4+x}} dx \xrightarrow{=} 2 \int \frac{1}{\sqrt{4+t^2}} dt =$$

$$t = \sqrt{x}, t^2 = x, dt = \frac{1}{2\sqrt{x}} dx$$

$$= 2 \int \frac{1}{2\sqrt{4+\frac{t^2}{4}}} dt =$$

$$\int \frac{1}{\sqrt{1+(\frac{t}{2})^2}} dt =$$

$$u = \frac{t}{2}, 2du = dx$$

$$= 2 \int \frac{1}{\sqrt{1+u^2}} du = 2 \arcsin(u) = 2 \operatorname{arcsin}\left(\frac{t}{2}\right) = 2 \operatorname{arcsin}\left(\frac{\sqrt{x}}{2}\right) + C$$

כלי דג' מרכזי:

$$\int x \cdot \cos x \, dx = x \cdot \sin x - \int \sin x \, dx =$$

$$= x \cdot \sin x + \cos x + C$$

$$\begin{cases} f' = \cos x & g = x \\ f = \sin x & g' = 1 \end{cases}$$

$$\int x \cdot \ln x \, dx = \frac{x^2}{2} \ln x - \int \frac{x^2}{2} \cdot \frac{1}{x} =$$

$$= \frac{x^2}{2} \ln x - \frac{x^2}{4} + C$$

$$\begin{cases} f' = x & g = \ln x \\ f = \frac{x^2}{2} & g' = \frac{1}{x} \end{cases}$$

$$\int \ln x \, dx = x \ln x - \int 1 \, dx = x \ln x - x + C$$

$$\begin{cases} f' = 1 & g = \ln x \\ f = x & g' = \frac{1}{x} \end{cases}$$

$$\int x^4 \ln x \, dx = \frac{x^5}{5} \ln x - \int \frac{x^5}{5} \cdot \frac{1}{x} = \frac{x^5}{5} \ln x - \frac{1}{5} \cdot \frac{x^5}{5} + C$$

$$\begin{cases} f' = x^4 & g = \ln x \\ f = \frac{x^5}{5} & g' = \frac{1}{x} \end{cases}$$

$$\int x \arctan(x) \, dx = \frac{x^2}{2} \arctan x - \int \frac{x^2}{2} \cdot \frac{1}{x^2+1} =$$

$$= \frac{x^2}{2} \arctan x - \frac{1}{2} \int \frac{x^2}{x^2+1} =$$

$$\begin{cases} f' = x & g = \arctan(x) \\ f = \frac{x^2}{2} & g' = \frac{1}{1+x^2} \end{cases}$$

$$\left[\int \frac{x^2}{x^2+1} = \int \frac{x^2+1-1}{x^2+1} = \int 1 - \frac{1}{x^2+1} = x - \arctan x \right]$$

$$= \frac{x^2}{2} \arctan x - \frac{1}{2} (x - \arctan x) + C$$

$$\bullet \bullet \int e^x \cos x \, dx$$

$$\stackrel{\text{202}}{=} e^x \cdot \sin(x) - \int e^x \cdot \sin x \stackrel{\text{202}}{=} \begin{cases} f' = \cos x & g = e^x \\ f = \sin x & g' = e^x \end{cases} \quad \begin{cases} f' = \sin x & g = e^x \\ f = -\cos x & g' = e^x \end{cases}$$

$$= e^x \cdot \sin x - (-e^x \cos x - \int e^x (-\cos x)) =$$

$$= e^x \cdot \sin x + e^x \cos x - \int e^x \cos x \Rightarrow$$

$$\Rightarrow \int e^x \cos x = \frac{1}{2} e^x (\sin x + \cos x) + C$$

הפעולה הזו נעשה אותה פעם אחת בלבד

$$\bullet \bullet \int e^{\sqrt{x}} \, dx$$

$$\stackrel{\text{202}}{=} \int e^t 2\sqrt{x} \, dt = \int e^t \cdot 2t \, dt \stackrel{\text{202}}{=} \begin{cases} f' = e^t & g = t \\ f = e^t & g' = 1 \end{cases}$$

$t = \sqrt{x}, dt = \frac{dx}{2\sqrt{x}}, 2\sqrt{x} dt = dx$

$$= 2(e^t \cdot t - \int e^t \cdot 1) = 2te^t - 2e^t = 2\sqrt{x}e^{\sqrt{x}} - 2e^{\sqrt{x}} + C$$

$$\bullet \bullet \int x^2 e^{-4x} \, dx$$

$$\stackrel{\text{202}}{=} -\frac{x^2 \cdot e^{-4x}}{4} + \frac{2}{4} \int e^{-4x} \cdot x \stackrel{\text{202}}{=} \begin{cases} f' = e^{-4x} & g = x^2 \\ f = \frac{e^{-4x}}{-4} & g' = 2x \end{cases} \quad \begin{cases} f' = e^{-4x} & g = x \\ f = \frac{e^{-4x}}{-4} & g' = 1 \end{cases}$$

$$= \frac{-x^2 \cdot e^{-4x}}{4} + \frac{1}{2} \left(\frac{e^{-4x} \cdot x}{-4} + \frac{1}{4} \int e^{-4x} \right) \frac{e^{-4x}}{4} + C$$

$$\bullet \bullet \int \frac{x}{\cos^2 x} \, dx$$

$$\stackrel{\text{202}}{=} x \cdot \tan x - \int \tan x \stackrel{\text{202}}{=} \begin{cases} f' = \frac{1}{\cos^2 x} & g = x \\ f = \tan x & g' = 1 \end{cases}$$

$$= x \tan x + \ln|\cos x| + C$$

$$\bullet \bullet \int x^2 \sin(2x) dx$$

$$\begin{aligned} & \overline{=} \frac{-x^2 \cdot \cos(2x)}{2} + \int \cos(2x) \cdot x = \\ & \left. \begin{array}{l} f' = \sin(2x) \quad g = x^2 \\ f = \frac{-\cos(2x)}{2} \quad g' = 2x \end{array} \right\} \end{aligned}$$

$$\left. \begin{array}{l} f' = \cos(2x) \quad g = x \\ f = \frac{\sin(2x)}{2} \quad g' = 1 \end{array} \right\}$$

$$= \frac{-x^2 \cos(2x)}{2} + \frac{x \cdot \sin(2x)}{2} - \frac{1}{2} \int \sin(2x) =$$

$$= \frac{1}{2} \left(-x^2 \cos(2x) + x \cdot \sin(2x) + \frac{1}{2} \cos(2x) \right) + C$$

$$\bullet \bullet \int \frac{x e^x}{(x+1)^2} dx$$

$$\overline{=} \frac{-x e^x}{x+1} + \int \frac{e^x (x+1)}{x+1} =$$

$$\left. \begin{array}{l} f' = \frac{1}{(x+1)^2} \quad g = x e^x \\ f = -\frac{1}{x+1} \quad g' = e^x + x e^x \end{array} \right\}$$

$$= \frac{-x e^x}{x+1} + \int e^x =$$

$$= \frac{-x e^x}{x+1} + e^x + C = \frac{e^x}{x+1} + C$$

$$\bullet \bullet \int \ln^2 x dx$$

$$\overline{=} \ln x \cdot (x \ln x - x) - \int \frac{x \ln x - x}{x} =$$

$$\begin{array}{l} \text{u/lv} \\ \text{S'bd} \end{array} \left. \begin{array}{l} f' = \ln x \quad g = \ln x \\ f = x \ln x - x \quad g' = \frac{1}{x} \end{array} \right\}$$

$$= \ln x (x \ln x - x) - (x \ln x - 1) = x \ln^2 x - x \ln x - x \ln x + x + x =$$

$$= x \ln^2 x - 2x \ln x + 2x + C$$

$$\dots \int x \tan^2 x \, dx = \int x \cdot \frac{1 - \cos^2 x}{\cos^2 x} =$$

$$= \int x \left(\frac{1}{\cos^2 x} - 1 \right) = \int \frac{x}{\cos^2 x} - x = x \tan x + \ln |\cos x| - \frac{x^2}{2} + C$$

$$\dots \int \arcsin \left(\sqrt{\frac{x}{x+1}} \right) dx$$

$$\stackrel{*}{=} x \cdot \arcsin \sqrt{\frac{x}{x+1}} - \int \frac{x \cdot \sqrt{\frac{x}{(x+1)^2}}}{2 \cdot x} =$$

$$t = \sqrt{x}, \quad 2\sqrt{x} \, dt = dx, \quad x = t^2$$

$$\begin{aligned} f' &= 1 & g &= \arcsin \sqrt{\frac{x}{x+1}} \\ f &= x & g' &= \frac{\sqrt{\frac{x}{(x+1)^2}}}{2x} \end{aligned}$$

$$= * - \int \frac{\sqrt{x}}{2|x+1|} dx \stackrel{*}{=} * - \frac{1}{2} \int \frac{t}{2(t^2+1)} \cdot 2\sqrt{x} \, dt = * - \frac{1}{2} \int \frac{t^2}{t^2+1} dt =$$

$$= * - \frac{1}{2} \int 1 - \frac{1}{t^2+1} = x \cdot \arcsin \sqrt{\frac{x}{x+1}} - \frac{1}{2} (\sqrt{x} - \arctan \sqrt{x}) + C$$

$$\dots \int (x-2)^2 \cdot \sqrt{x+3} \, dx$$

$$\stackrel{*}{=} \frac{2}{3} (x+3)^{\frac{3}{2}} (x-2)^2 - \frac{4}{3} \int (x+3)^{\frac{3}{2}} (x-2) \Rightarrow$$

$$\begin{aligned} f' &= (x+3)^{\frac{3}{2}} & g &= x-2 \\ f &= \frac{2}{5} (x+3)^{\frac{5}{2}} & g' &= 1 \end{aligned}$$

$$\begin{aligned} f' &= (x+3)^{\frac{1}{2}} & g &= (x-2)^2 \\ f &= \frac{2}{3} (x+3)^{\frac{3}{2}} & g' &= 2(x-2) \end{aligned}$$

$$\Rightarrow \int (x+3)^{\frac{3}{2}} (x-2) = \frac{2}{5} (x+3)^{\frac{5}{2}} (x-2) - \frac{2}{5} \int (x+3)^{\frac{5}{2}}$$

$$\frac{2}{3} (x+3)^{\frac{3}{2}} (x-2)^2 - \frac{4}{3} \left[\frac{2}{5} (x+3)^{\frac{5}{2}} (x-2) - \frac{2}{7} (x+3)^{\frac{7}{2}} \right] + C =$$

$$= \frac{2}{3} (x+3)^{\frac{3}{2}} (x-2)^2 - \frac{8}{15} (x+3)^{\frac{5}{2}} (x-2) + \frac{16}{105} (x+3)^{\frac{7}{2}} + C$$

פונקציה רציונלית:

חילוק פולינומים:

$$\frac{3x^5 - 4x^3 + 2x^2 + 3}{x^3 + 1} = 3x^2 - 4 + \frac{7 - x^2}{x^3 + 1}$$

$$\frac{2x^4 + 3x^3 - x^2 + 2}{x^2 + 2x + 2} = 2x^2 - x - 3 + \frac{8(x+1)}{x^2 + 2x + 2}$$

$$\frac{-x^7 - 3x^6 + 4x^4 - 2x^3 + 6x}{x^5 - 2x^3 + x^2 - 4} = -x^2 - 3x - 2 + \frac{-x^4 - 3x^3 - 2x^2 - 6x - 8}{x^5 - 2x^3 + x^2 - 4}$$

פירוק לשברים הקטנים:

$$\frac{1}{x^2 - x} = \frac{1}{x} - \frac{1}{x+1}$$

$$\frac{x - 14}{x^2 - 2x - 8} = \frac{3}{x+4} - \frac{2}{x-2}$$

$$\frac{8x^2 - 31x + 9}{(x-1)(x-3)^2} = \frac{5}{x-3} - \frac{3}{(x-3)^2} + \frac{3}{x+1}$$

$$\frac{5x^3 + 5x^2 + x - 1}{x^2(x^2 + x + 1)} = \frac{2}{x} - \frac{1}{x^2} + \frac{3x+4}{x^2+x+1}$$

$$\frac{3x^4 - 2x^3 + x - 9}{(x^2+1)^2 \cdot (x-2)} = \frac{2x+2}{x^2+1} + \frac{3}{(x^2+1)^2} + \frac{1}{x-2}$$

$$\bullet \int \frac{1}{x^2-4} dx = \int \frac{1}{(x-2)(x+2)} = \frac{1}{4} \int \left(\frac{1}{x-2} - \frac{1}{x+2} \right) dx =$$

$$= \frac{1}{4} \left(\int \frac{1}{x-2} - \int \frac{1}{x+2} \right) = \frac{1}{4} \cdot (\ln|x-2| - \ln|x+2|) + C$$

$$\bullet \int \frac{2-2x}{x^2-4} dx = -2 \int \frac{x-1}{(x-2)(x+2)} = -2 \int \frac{x-2}{(x-2)(x+2)} + \frac{1}{(x-2)(x+2)} =$$

$$= -2 \left(\int \frac{1}{x+2} + \int \frac{1}{(x-2)(x+2)} \right) = -2 \left(\ln|x+2| + \frac{1}{4} (\ln|x-2| - \ln|x+2|) \right) + C$$

$$\bullet \int \frac{4x-1}{x^2+1} dx = 2 \int \frac{2x}{x^2+1} - \int \frac{1}{x^2+1} = 2 \ln|x^2+1| - \arctan x + C$$

$$\bullet \int \frac{4x+2}{x^2+4} dx = 2 \left(\int \frac{2x}{x^2+4} + \int \frac{1}{x^2+4} \right) =$$

$$= 2 \ln|x^2+4| + 2 \int \frac{1}{4 \left(\frac{x^2}{4} + 1 \right)} = 2 \ln|x^2+4| + \frac{1}{2} \int \frac{1}{\left(\frac{x}{2} \right)^2 + 1} =$$

$$= 2 \ln|x^2+4| + \arctan\left(\frac{x}{2}\right) + C$$

$$\bullet \int \frac{x^4+3x^3+2x^2+16x-6}{x^2+4} dx = \int \left(x^2+3x-2 + \frac{4x+2}{x^2+4} \right) dx$$

$$\bullet \int \frac{8x}{(x-2)^2(x+2)} dx = \int \frac{1}{x-2} + \int \frac{4}{(x-2)^2} - \int \frac{1}{x+2} =$$

$$\bullet \int \frac{2x^2+x-1}{(x^2+1)(x-3)} dx = \int \frac{1}{x^2+1} + \int \frac{2}{x-3} =$$

$$\bullet \int \frac{3x^5-10x^3-4x^2-9x+18}{x^2-4} dx = \int \left(3x^3+2x-4 - \frac{1}{x+2} \right) =$$

$$\dots \int \frac{x-2}{x^2+2x+3} dx = \frac{1}{2} \int \frac{2x+2-6}{x^2+2x+3} = \frac{1}{2} \int \frac{2x+2}{x^2+2x+3} - \int \frac{6}{x^2+2x+3}$$

$\begin{matrix} \nearrow \\ \text{PÖÖ} \\ \text{---} \\ (x+1)^2+2 \end{matrix}$

$$= \frac{1}{2} \ln|x^2+2x+3| - 3 \int \frac{1}{2 \left(\frac{(x+1)^2}{2} + 1 \right)} =$$

$$= * - \frac{3}{2} \int \frac{1}{\left(\frac{(x+1)}{\sqrt{2}} \right)^2 + 1} \stackrel{\leftarrow}{=} * - \frac{3}{2} \int \sqrt{2} \cdot \frac{1}{t^2+1} dt =$$

$\left(t = \frac{x+1}{\sqrt{2}} \right)$

$$= \frac{1}{2} \left(\ln|x^2+2x+3| - 3\sqrt{2} \arctan\left(\frac{x+1}{\sqrt{2}}\right) \right) + C \quad \underline{\underline{\text{PÖÖ}}}$$

$$\dots \int \frac{1}{(2x+3)^3} dx = \int \frac{1}{2^3 \left(x + \frac{3}{2}\right)^3} = \frac{1}{2^3} \cdot \int \left(x + \frac{3}{2}\right)^{-3} = \frac{1}{2^3} \cdot \frac{\left(x + \frac{3}{2}\right)^{-2}}{-2} + C$$

$$\dots \int \frac{4x-2}{3x^2+3x+6} dx = \frac{2}{3} \int \frac{2x-1}{x^2+x+2} = \frac{2}{3} \left(\int \frac{2x}{x^2+x+2} - \int \frac{1}{x^2+x+2} \right) =$$

$$= \frac{2}{3} \left(\ln|x^2+x+2| - \int \frac{1}{\left(x + \frac{1}{2}\right)^2 + \frac{7}{4}} \right) = * - \frac{4}{7} \int \frac{1}{\frac{4}{7} \left(x + \frac{1}{2}\right)^2 + 1} =$$

$$= * - \frac{4}{7} \int \frac{1}{\left(\frac{2}{\sqrt{7}} \left(x + \frac{1}{2}\right)\right)^2 + 1} \stackrel{\leftarrow}{=} * - \frac{4}{7} \int \frac{\sqrt{7}}{2} \cdot \frac{1}{t^2+1} dt = \frac{-2}{\sqrt{7}} + \arctan(t) =$$

$\left(t = \frac{2x+1}{\sqrt{7}} \right)$

$$= \frac{2}{3} \left(\ln|x^2+x+2| - \frac{2}{\sqrt{7}} \arctan\left(\frac{2x+1}{\sqrt{7}}\right) \right) + C \quad \underline{\underline{\text{PÖÖ}}}$$

$$\dots \int \frac{2x+5}{(x^2-2x+1)^4} dx = \int \frac{2x-2}{(x^2-2x+1)^4} + \int \frac{7}{(x^2-2x+1)^4} =$$

$$\int \frac{1}{t^4} dt + 7 \int \frac{1}{(x-1)^8} = -\frac{t^{-3}}{3} + 7 \cdot \frac{(x-1)^{-7}}{-7} =$$

$$\boxed{t = x^2 - 2x + 1} = -\frac{1}{3(x^2-2x+1)^3} - \frac{1}{(x-1)^7} =$$

$$= -\frac{1}{3(x-1)^6} - \frac{1}{(x-1)^7} = -\frac{x+2}{3(x-1)^7} + C$$

$$\dots \int \frac{4x^3 + 4x + 3}{x^4 + 2x^2 + 3x} dx = \int \frac{4x^3 + 4x - 2x + 3 - 2}{x^4 + 2x^2 + 3x} =$$

$$= \int \frac{4x^3 + 4x + 3}{x^4 + 2x^2 + 3x} - \int \frac{2}{x(x^2-x+3)} =$$

$$= \ln |x^4 + 2x^2 + 3x| + \int \frac{2(x-1)}{3(x^2-x+3)} - \frac{2}{3x} =$$

$$= \ln |x^4 + 2x^2 + 3x| + \frac{2}{3} \int \frac{x-1}{x^2-x+3} - \frac{2}{3} \int \frac{1}{x}$$

$$* \int \frac{x-1}{x^2-x+3} = \frac{1}{2} \int \frac{2x-1-1}{x^2-x+3} = \frac{1}{2} \left(\ln |x^2-x+3| - \int \frac{1}{x^2-x+3} \right)$$

$$** \int \frac{1}{x^2-x+3} = \int \frac{1}{(x-\frac{1}{2})^2 + \frac{13}{4}} = \frac{4}{13} \int \frac{1}{\left(\sqrt{\frac{4}{13}}(x-\frac{1}{2})\right)^2 + 1} = \frac{4}{13} \int \frac{1}{t^2+1} dt$$

∴ ∫

$$\ln |x^4 + 2x^2 + 3x| - \frac{2}{3} \ln |x| + \frac{1}{3} \left[\ln |x^2 - x + 3| - \frac{1}{\sqrt{13}} \cdot \arctan \left(\sqrt{\frac{4}{13}} \left(x - \frac{1}{2}\right) \right) \right] + C$$